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No. of Questions : 100
g BT W& 100

Fime : 25 Hours ) [ Full Marks : 300
7Y 2V que ] [ qUIiE: 300

Note: (1) This gquestion booklet contains 100 (hundred) questions in all (30 in
Section-A and 70 in Section-B). Attempt as many questions as you can.
Each question carries 3 (three) marks. One mark will be deducted for each

tncorrect answer. Zero mark will be awarded for each unattempted

L’]llUHtiﬂn.

T GE-gRad ¥ g 100 (@) v ¥ (@ue-a1 ¥ 30 7 wve-g @ 70) |
&WMﬂﬁﬁWﬂﬂmmlmmHS(fﬂﬂ)Wﬂﬁl
mmaﬁ?$%¢w3f$mmfﬂ?ﬂiﬁa{jﬂﬁammum
I B |

(2) If more than one alternative answers seem to be approximate lo the

correct answer, choose the closest one.

g galfts defouds SR WE SR & Frpe udi| # ar Peeas gd s
g |

(3) o
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Qe — JA
1. Which one of the following is an indicative of the quality of teaching ?
(1) Maintains pindrop silence in the classroom
{2) Raises verv standard questions
(3) Students reply in the Gassroom
(4) Pass percentage of the students
fapsy & 4 @ o7 SeTTA @ T @7 SEld Hear &
(1) wen A gob et &I T
(2) HAF T BT GO
(3) BIE B BET W S A
(4) e # SO B & ufdera

2. The main objective of a testin class is :
(1) To repeat whateveris taught till now
(2) To gauge educational achievement
(3) To train students to give reply after thinking
(4) To give practice of wnting
eqr § @ TR BT A IR
(1) @ o& ot @B Yerdl T & THD) ATERH
(2) ftre Suafdr & Tl e
(3) ﬁrmfﬁiuﬁﬁféaﬂzﬁu?mﬁ’ﬁ?éﬁtﬁmgﬁﬂéﬂm
(4) forat @1 QRITE <1

3. The most significant role of a teacher in a class is to act as a person who is
intended to :

(1) Teach content to the students (2) Ensure discipline among, udents
(3) Train the students (4) Guide the students o
TH SEAE B AAE sprey i, weT d U@ O fd @ idl § o
(1) B @ fRva.awg Teid (2) OTEr B IR mi‘s
(3) BTai @7 ufdida H (4) BEt B HEHCET R
(4)
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Instruction : On ihe basis of e following contents, answer the question winbers
11&12:
e e aeg B R G 987 F&yr 11 712 & gev @
There are six persons A, B, C, D, E and F. C is the sister of F. B s the brother of
E's husband. D is the father of A and grandfather of F. There are two fathers,
three brothers and a mother in the group. Then answer question 11 and 12
B a@faa A, B, C, D,Eﬁ?l?%‘l(?,Faﬁaﬁ?%:B,E‘cﬁvﬁfﬁ‘rmé%;{},Aw

fﬁm%aﬁ?Fma‘.‘cﬂ%lﬂﬂsﬁa‘wﬁmfﬁamﬁaﬁvwiﬁ?;ﬁ’rmn:3‘?3'12
HT IR T

How many male members are there in the group ?

(1) one (2) two (3) three (4) four
W A floq o0 wew § ?
(1) U (2) = (3) (4) @e

How is F related to E ?

(1) Uncle (2) Husband (3) Son (4) Daughter
F,E & &9 wwfig & 2
(1) =ra (2) wfy (3) g3 (4) =
Which of the following does not belong with the others ?
(1) Guitar (2) Flute (3) Violin (4) Sitar
e o A BT 37§ T 98 @ 2
(1) Mrer (2) g (3) arafer (4) Ror
If the day before yesterday was Thursday, then when will Sundav be ?
(1) Today (2) Two davs after today
(3) Tomorrow (4) Day after tomorrow
af% T & yEd gewiiaR o, ) WA 7 g 2
(1) 3T (2) 315 & 1 faq a=
(3) el () 79 @ ag & 2+
(7) PT.0.
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4. All of the following are applicable for teaching to create good motivation

among students except that teaching should :
(1) be brief

(2) relevant to the pupils

(3) be related to the lesson that follows

(4) always come from the teacher

g § & & %ﬁwﬂrﬁﬁmmﬁmzﬁmcﬁ%ﬁmﬁ%mwﬁ
PIgHY .

(1) R G e arfed

(2) Revr BT & 3%y 81 Ty

(3) mmmmwzﬁmjﬁqﬁmmﬁm
(4) Teor 29en seamas & e TR

Children generally remember those things that they :

(1) learn by doing themselves (2) listen from the mouth of teacher
(3) watch on the television (4) read in books

9T WHIIE: 39 Al B arg ave § R 3

(1) =T oxa drad & (2) R & 7w @ g #

(3) TWeTH WX e@y & (4) qwre & geg #

In various teaching methods, which is designed to modify the learners'
behaviour ?

(1) Subject matter (2) Learner (3) The teacher (4) School

ﬁ%ﬁwﬁ%ﬁ.%@ﬁmﬁﬁﬁwﬁuﬁméﬁmmﬁﬁ%mm
-,._:‘v;'J

(1) foa awq (2) srferrae (3) Rwemw (4) femen

The most powerful barrier of communication in the classroom s :
(1) Lack of teaching aids

(2) More outside disturbance in the classroom

(3} Confusion on the part of the teacher

(<} Noise in the classroom

(5) P.T.O,
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15.

16.

1Z.

18.

19.

(f 1sl October is Sunday, then Ist November will be

(1) Mondav (2) Tuesday (3) Wednesday (4) Thursdav
, 3 131&7:;31?25‘1@31?%,:‘1‘[1 AqaraR @ B & e e .
(1) WFER (2) HITGAR (3) qudn (4) FEwfg

1f 25th of August in a year 1s Thursday then, the number of Mondays in that
month will be : o

(1) three (2} four (3) five \(-{} s::.x i

A2 faell |re 3 25 SRA gERSiaan B Usal 8, @ S ASH ¥ WEAR @] W@
gril __

(1) = (2) IR (3) ufd 1) &

Pointing to a woman, a man said, "The sister of her mother’s husband s m
aunt.” How is he related to thal woman ?

(1) Nephoew (2) Father (3) Uncle . jh ;I?mufr .
oF 3N @1 SR Hed FA gL TP ¥ Y aw, "ay@ Wi & ol @ avm IR wr
S gy U WA W aN e E

(1) #eal (2) oa (3) 9Tl (4) IS

I am facing East. [ turn 100710 the clockwise direction and then 145 i the
« r oEdsL. .
nticlockwise direction, Which direction am L acing now :
(1) Easl (2) North-East (3) North (4) South-West
# qm @ ek e & g1 9w W gt w faen (afdungd) & 100° 581 7 alv
qg 145° 93 A gt @ [ framr (emsracd) 41 a1@ H2 He by R A€ 7
. \ T '\*" v -
(1) qd (2) TEYS (3) wTr (4) afdm.atian

Train: Track ::?

(1) Idea: Bramn (2) Bullet: Barrel

(3) Waler : Boat (4) Fame: Television

YT NG L 7

(1) faaw : aRdaws (2) e @ axa

(3) qil : FaHT 1) wn . cfafre
(8)
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IESHARP is coded as 58034 and PUSH as 4658, then RUSH i« coded as

(1) 3568 (2) 3658
1S SHHARP &) |ifis wmr (@)

(3) 3685 (4) 3583

A 58034 forar i|r & @en PUSH & 4658

cﬁmﬁamarmaa’rRUSHas’r%ﬁmﬁmrm?

(1) 3568 (2) 3658
RMSA is related to .............. education.
(1) Primary (2) Higher

AR QHQ ... e & wafdg &
(1) wgffae (2) STg

Gyan Darshan' is related to -

(1) IGNOU

(3) UGC

SF I Hafod #

(1) §799

B) vFAamr A Y

(3) 3685 (4) 3583

(3) Secondary (4) Technical

(3) wreafas (4) TEqa

(2) NCERT
(4) NCTE

2) g A
) mMAIEN

Who was the Chairman of National Knowledge Commission ?

(1) Sam Pitroda

{3) D.P.Singh

T Sl RN FT Hexel B o ?
(1) 9% Q=

(3) Sodlo Rw

(2) Krishna Gopal
(4) Ved Prakash

(2) @7 Mure
(4) 92 g™

Planning Commission’ in India has been renamed as -

(1) Artha Aayog
(3} NITI Aayog

{2) Planning Commission of India

(4) Vikash Aayog

U # AT SR BT g SR b o §

(1) e 3
(1) N ama

(9)

(2) L@‘ﬂ:‘ﬁ[ EF#TT’ 3Th gﬁ*g—;—-—
(4) R&1E amin

P.1.O.
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25.

26.

27.

28.

29.

30.

' G ate Universilies' in India ?
Which State has maximum number of 'State Universiiies | :

(1} Rajasthan (2) Uttarakhand  (3) Uttar Pradesh  (4) Gujaral

wea @ BhE vog § wdita oy Ryfedad € ?

17 i 4
(1) TR (2) TERETS (3) i U (4) Tl

‘World Environment Day’ 1s celebrated on:

(1) 5th September  (2) 3th June (3) 15th August  (4) 23rd lanuary

frg mataen Qg @a J=dr VIl g7

(1) SRR B () 59 @ () 1P (4) 23T

When 'National Youth Dav’is celebrated ?

(1) 12 June (2) 12 August (3) 12 January (4) 12 October

A Al Raxy A WA o g v

(1) 1254 & (2) 1280 BT (3) 12 TR Bl (H) 123@agat G

" W Wiy = = e e . . ?
In which State 'Vishwa Bharati Universily 1s situated

(1) Assam (2) Himachal Pradesh
(3) Bihar (4) West Bengal

Sreg Wl Rivafrorey e wor § Rug 7

(1) aren (2) faqrast uew

(3) fqEr (4) uf¥gs @ma

Who i« the author of the book 'lgnilr.-:d Minds' ?

(1) Yashpal (2) Vivekonand
(3) A.P.]. Abdul Kalam (4) Karn Singh
drAEEg HIZUSH B oEd B 8 ?

(1) 99T (2) fddaiE
(3) To flo Ho el B (3) @l &

In which year Indian Parliament enacted RCH Act ?

(1) 2000 (2) 1992 (3) 1986 (4) 1993

g dae ¥ e 9t amefoande siffam g=mm ?

(1) 2000 (2) 1992 (3) 1986 (4) 1993
(10)
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SECTION-B
Yrg — g
The value of lim 1_‘{'1_',, is:
Y=l (cos -l x)”
l 1
(1) > (2) 1 (3 1 (4) 0
x
lim—" &7 7 &
=1 (cos™! x)2
(1) : ) A 3) 1
The value of lim log(1+x7) IS :
-0 sin- x
(1) -1 (2) 0 {3) 2 (4) 1
3
T L (P
V=0 sin” y
(1) -1 (2) 0 3) 2 (4) 1

Let IR be the set of all real numbers. For which value of r., the function

f IR~ IR defined by

f(x) !1 :2:;"3 when x = -]
N i X+
2. » when x=-1
1s continuous at x = -1.
(1) 4 (2) 4 (3) 2 4) -2
IR areifdd T@msit & ey &) 4. ® e 7 & fyu
x:-ZI—R .
flx)= T Shae
I‘ }. ’ X :—]
AT ORHIRE e IR IR x= -1 ) wag & 7
(1) 4 (2) - (3) 2 (4) -2
(11)

A e -
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34.

35.

36.

-
b

'll

— e
Derivative of sin™ =

: | wilh I‘L‘H}Jt‘ﬁft % B o L

\ X Ly 1 J
2 2 : 1 - =
(1) - (2) ﬁ &) —x
1+x~ (1+x°) 1+x°
J' 2 _1 |
|l : T IFdhdT B
5
2 2 l=X
(1) Q) —— () —
Iy (1+x7) 1+x*°
dyf
If cosy =xcos(y+a), then value of T s
(TRY
cosa sin
(1) e {2) > s
cos” (i +d) COS™ (Y +a)
_ cos>(y +a) () _cos(y +a)
sina cosda
~ dy
q1e cosy = xcos(y +a), al - d H A 2
| ! z
(1) - iﬂﬁﬂ o ej.;in i
cos“(y +a) cos” (i +a)
2
cos“(y+a cos(y +a)
g B ay S
Sina COs T
. | 3 2
i & dsy
[f —L——% =1, then value of 5 18
a“ b dax
. b° b" b
(1) =7 (2) (3) —2"{
ay a’ y if
x* i%
afg 1—, L], W -‘-—--{ ® A E
a- b" dx?
Ilz . }?J’ E,‘J'
(1) 3 B ey (3) =
a’ iy =y a-y

(12)

iy
.
|
() —
i r X
py LY
=
ﬁjui
1) -—5
(1"

collegedunia

—



37.

38.

39.

40.

18U/94/29(Set-1)

The radius '
s of a spherical balloon is increaci
' . il : r 5 L ( i J
e creasing at a rate of 10 em/sec. When the
» e surface area of balloon is increasing at the rate of -

(1) 120 x em?/sec, (2) 100 1 cm?/sec.
(3) 1200 m cm?2/sec, (4) 1000 n cm?/sec.

V@ TAdR Tar at fBroar 10 o /W0 I T
3 y & © : 4G -‘,ﬁ ?Il %
15 Wte %'mmmﬁh‘?ﬁﬁaa#aﬁmg: oid e &' By

(1) 120 n &9 /R0 | (2) 100 = d47 /9o
(3) 1200 = ¥ /o (4) 1000 = 97 /o

I'he local minimum value of the function f(x)=(sin? v + cos? Y)inQ<y<l
1S : |

(1) 0 () 1 (3) = W 1
>

2

BAT f(x)=(sin® x +cos* x) T feTem {}e::rrzg, T IR H D

]
i) 0 (2) 1 3) _JI? (4) 721'

, . . ) - ’ ;
The function f(x)=x", x>0 is increasing on the interval :

(1) (e, 0 ’ :
(¢, ) (2) le, =) (3) [;;V} (4) (-, e
W f(x)=x", x>0 37 swRIE § 929 BU %9 H ¢
1 X :
(1) (e, ) @ I¢,) 3) [;.:a) T
| x § B k-

The value of j sin \JE ;zﬁ, 15 (where ¢ being the constant of integration) :
(1) ntan"l\{;:+r (2) acos™ I-}--i- C

a i
(3) xtan” 2 4¢ : ! H:‘: [

< () xtan™ = ¢atan”' 4= —ax - o

M a | )
(13) P.T.O.
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fsin ! J——d, BT HF (ST ¢ U e B AN B )
s MIII. 4 X

X
— .: ﬁ’+ ‘
2 2] aoos L
(1) atan I,J-}-H‘ (2) « \Va
| d ‘ .
_ ' i e
(3) A F ¢ (4) xlan '\H4 g lan == NTAES
X lan — :
; .\:l
41. The value of J.\' Sinxdx,is
il
P <47 4) =
- 3y ‘= (3) = (
(L) = (2) 3 3
3 :
J..-;"f‘il'l‘;.‘l':h‘ w1 HIF g 7
1
’n drt "
: ) (3) — (H =
(1} = (2) 3 -
3 :
42. The value of fu.&t = T4 X" )dx 180
” m
T ;W
(1) n+log2 (2) n-log?2 (3) ;—1”1.‘;?. (4) ‘_‘[Uh—
‘ ¥ . o 5 :
Icot"{l-_ v+ ) dy WA BT
0 -
r ! 1 -
(1) m+log2 ) n-log2 (3) -‘;—iugE (4) qlu;_,_

% |
aral i = 7. " - 1 ]
43. [he arca of the region bounded by the parabola ¥~ =2v+1 and the linc

| 32 3

/ U )
8 - 32 o 3 —
(1) i;‘r sq. units (2) -—3 sq. unts (3) —h] sq. units  (4) . Sq. unily

wRged % =2x+1 TA /I ¥ v -y =19 R gy & @1 eamhe T

-

D

S ‘1’} & :1[] =
16 . S it ofa 2 atgie () — 3l g
M - e @ PFre @) - ITY

(14)
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1

44.  The order of differential equation ;__*1{4_““' ) i-ﬂ IS
dx’ L;h }
(1) 3 (2) 4 (3) not defined (4) 7
thI; f dty 1
e»rcﬁﬁ?»rmm-—--mn =0, & B (3R) 2
dx? Ldx -
(1) 3 (2) 4 (3) uRmfee =t & (g 7

45. The differential eéquation representing the family of ellipse having centre at
origin and foci on x-axis, is :

d*1 dy 1 2 2

(I) Iif— 2 ( "] Ui..{:(] (2) i¥+(fﬂ{) ...E*-l_;-_-[)
dx dx ax dx< \dv/) dy
d’y | n'u"z d* 1 ]

B) x—=+y = +y=0 “Lgt A L
W) * M Wi

9T WA ST @1 R b TR o TR s ww Rl g B g
aﬂ#amramﬂﬁaﬂm%:

2
(d -
" dv? dx dx dxz dx ) dx
i’ i (dy
(3) X==+y ‘—J +y=0 (4) Ifﬂ—li-l-l(duJ =0
dx- dx dx* ¥ )

46. In a bank Principal increases at the rate of 5% per vear. The number of vear in

which Rs. 1,000 double it self, is :
(1) 20 }'ears (2) 10 years
(3) 20log,2 years (4) 10 log, 2 years

% u fft &% o 59 anEid:E?ﬂaa?gTéﬁmﬁﬁmfﬁHOOﬂ%nmﬁcﬁ'm
8 SR ?

(1) 207 (2) 10 ad

(3} 20log, 2 o (4) 10 log.2 a4

47.  The solution of initial value problem (x —sin y)dy + tan yax =0, y(0) =0, js:

(1} y= 5in_](2.r) (2} »=sin I
_ I
(3) x=tany (4) xsiny+ Icnhly =)

(15) P.T.O.
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18U/94/29(Set-1) |
grfArd A G (v - sin y)ydy +tany dx =0, w(v) =4, G vl v
(1) ¥ =sIn Y(2v) (2) x=sny

I
: R g
ysiny +—cosly = U
(3) y=lany (+4) ¥

* s ratle pr tional to s
48. Assume that a spherical ram drop evapordales at the rate propuctin
curface area. If its radius originally is 3 mm and 1 hour latter has been reduced

to 2 mm. The time in which rain drop disappears |

(1) 6hr =~ (2) 4hr (3) 3hr (4 2hr
r ¥ 'y . i3 - T ] (“nr‘:;
W R T § 6 Te e ag @) o B AR B AT S e

ey

srame @ gEEuid 8 a4 @l grfar fem 3 e & o1 OF Lr T3 \;"r
o w4 Sa 2 Al v A 2 a1 fraa Tw 4ig @St @ 48 fRuig T8 o

. b
(1) 662 (2) 4 €< (3) 3HcT (1) 2 He

=

49. The line normal to a given curve at cach point (X, ) on the curve passes

. A . g e . . 3 - W ) : 2 Z

through the point (2, 0). 1f the curve contain's the point (2, 3), the equation of
CUrve is

ﬁ v 9y Bt = A =5
(1) 4T =Ly (2) |

4 "

(3) 1;: = Jx X" () x +2y" =4-

gl

X

vh gF B e g (v, ) W i T siaw famg (2, 0) I R @l dle db
vl R U g (2, 3) Red 2 g7 aw @l FT WHIE B

1 I? 2 2 . 4x=95
() vw=2x o (2) x“+V¥

2 d g 3 o -
3) y° -:-l.r+.\'2 (4) X" +2y 3. -4

50. =i+ +k and ¢ =j-k are given two veclors. If b <atistying the condition

ixh=¢ and @b=3.Then b is:

Yox THa T

1‘.|L lt 1" .-]_ :__-:-‘:_,.i__:k

(1) "-;l"k-ij*'gk (=) l[ 33 3} 3
o4 2 2 ;-i-'._'_rl.': ;"

(3) h=§r+-i-_,'+ak +) J—-—}I legﬂ

(16)
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n—:-*+j+k'ﬂan C=)~k @ afee IR & 4y b s upR & B iixh-C agur
ab -3, T b ol HiY R

5 I ] - | : w9 2
(1} !‘-gl‘fg.[*r; (2) b-—;—f'?':—}‘r:rl
T -.-A 2:\ - - 5 2A 2.&
3 B=2issie i —ny Ex 2
(3) 31+qj+ (4) b 3: 3;+3k

If d,b,¢ are three unit vectors such that |d+b+¢|=1 and i is perpendicular

to b. IF ¢ makes an angle « and 8 with @ and b respectively, then value of
Cos o+ cos B is:

2
{j = @ -3 (3 1 (4 -1
afe i,b,¢ Al bd wfew AR 39 woR & B |d+b+E|=1 9 4, b % =
81 afd &, d avn b & AW o TP P TN &, &) cos o + cos P FT A B
3 3
(1) 5 (2) ~3 (3) 1 (4) -1

Two integers are selected at random from integers 1 to 11. If the sum is even,
the probability that both the numbers are odd, is :

I 2 3 6
Ao oy - [ il
(1)5 ()5 ()5 (4) T

1911 9% & quiel ¥ ¥ ggeoan foe) @ quie! &1 g5+ fear s & af g
H1 A [H G g, @ S Al @ fwm e o vl ®

(1) % @) 2 @ 3 @ 2

5 5 11
A class consists of 80 students, 25 of them are girls and 55 boys; 10 of them are
rich and remaining poor, 20 of them are fair complexion. The probabilitv of
selecting a fair complexion rich girl is :

5 5 3 5 -

- 2) — 3) — 1) ——
o 16 = 128 ) 512 ) 512
vw P ¥ wa 80 B & e 25 wefdar men 55 @® 8§79 | 10 w vTH ©
A 99 BT e & @ 39 BT A U 20 BTA MR T B €| UF TR T B A
Fsa & gafid g @ e € -

5 3 3

5 Ry h
2 o 3 = f
th 16 (2) 128 ) 512 ) 512

(17) PT.O.
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54. Three persons A, B, C thrown a die in snceession Gl one get a "Qix" and win the

pame. The probability of winning B is :

l 36 Q) : |
1) — 2) —- it —
) - @ = 3 = @ 3

M @ A, B 9ol C T T B T B I TH 0@ T Bl B & uid b G
s @ (ef0 H[A¥D "Six" W 7 il Y B A W ey A aiftiea #

a) - (5 22 @y 2

3 91 ) 9 (4)

3

95. A die is tossed twice. A 'Success' is “getting an odd number” on a random toss,

The variance of number of ‘success’ is

- @) 2 (3) 1 3
2 k- ‘ @)

TF IR @I &1 dR Bl 171 8 | TGoq B T 4R 1 R wem wa ger oo
HHAW B THEAl & W@ B (¢0) G Gl 2 ?

. | 2 4
ay = @ 3 (3) 1 (4) =
] | ; (Y
§6. lfm e Nandm =2, thenvalueof | "C; "''(, ””E{*.,I IS :
| mC; i IC.-_. m!?(:-:‘
(1) m (2) m{m+1) (3) 1 (4) 2
| 1 1
HE me NTnm228 | "c, "¢, "I , Bl H 8
F " C2 4+l CZ 2 (,E |
(1) m (2) m(n+1) (3) 1 (4) 2
2 3 1 4
57. Therankofthe matrix A={0 1 2 -1lis:-
_(} -2 -4 2
(1) 1 (2) 2 3 3 (4) 4
(2 3 1 4]
A A-[D 1 2 -1y &1 ¥ &
(1) 1 (2) 2 (3) 3 (4) 4

(18)

1 E
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99.

60.

61.

62.
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3 .F J ) - !
It /() = log 4 flog s {log 1 (18y 17 - 7?'),'_;, then domain of the function f(x) is

(1 (7.11) (2) {7, 11] (3) (8,11) 4) (8,10)
M2 F(v)=log, fogsllog(18x - x2 =77) ), @ S flx) 1 979 (domain) &
(H) (7,11) (2} [ 11] (3} (8, 11) (4) (8,10)
2 Ans 2 meye
The value of == 331 o Ml 15
.22 . 269
SIin” — —sin” —
2
o I 1
() w2 (2) —= 3) -2 (4) —
v2 )
1-1 = 2‘.h i
COS ‘3_ COS S?P T i
. . 269
Sin® —=sin“ —
2
(1) V2 {3y e @) -2 @) =
Solutions of equation \E sec+tan =1, are:

(1) 0=2nn,nelZ (2) 8=2nn-—%, neZ
(3) H=3Jm+§,”EZ (4) 8:(2!1-—1)«},1152
B V2 secl+ tan0 = | &1 EO B #
(1) 0 =2nm,nel (2) Bmﬁrm—%,nez
(3) D-:'me+;, ne’ (4) B=(2H-‘-])-E,HEZ
If x + 5= 4i, then value of x* +9x” +35x% = x+4 is:
(1) 160 (2) 16 (3) -160 4) 0
e x+5=4i,@ x4 435 —x+d FAA L
(1) 160 (2) 16 (3) -160 4) 0
The argument of complex number _;“1 — IS

COS — +{sin -

3 3

I 5y 2% 3. 4y 22
(1) : (2) v (3) 1 ) B

(19) P.T.O.
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63.

64.

65.

66.

1—1

T Tl (SR[H) BIE ¥
COS x +i_~'~.inE
')'

T S5 i 4 i

: 7. e 3 = o
1 vl G 5 T

. ) - ol
If e, P are roots of the equation 4x~ +3x +7 =0, then — +H is equal Lo
L

7 g 7 3

(1) i (2) = (3) —= {4y =
A J
TR @, B, TOFT 447 +3x+7 =0 B ¥y & @ j"*fli BT A & :
4

7 7 7 3
5y g 2) - ) == H -2
(1) 3 (2) 1 J T (4) 7

. . v+ 2Mxr=5) =2
The number of roots of the equation !-(‘ ) i IS
(x=3)x46) vid
(1) 0 (2) 1 () 2 (4) 3
i =9
3 (L-&-_Z_)_(} _-.) 2 &® F‘[—‘ﬂ P T &
(x-3)(x+6) x+ I
(1) O (2) 1 (3) 2 4 3
In iInequabion 1 25, the value of x is:
l‘_
(1) (=c,3] (2) [1.3] (3) (1,3] (4 [3, )
sl 2 T o
x-1

(1) (—=, 3] 2) 11,3 (3) (1,3 (4) [3, )

By using the digits 0, 1, 2, 3, 4 and 5 (repeatition not allowed) number are
formed by using any number of digits. The lotal number of non-zero number«

18

(1) 1630 (2) 1625 (3) 1030 (4) 1230

(, 1,2, 3 4705 AP & g g T fbLD 3fF @Y wa yeias w@ergt g Ty
arT g (3@l @ R wwa Tl )

(1) 1630 (2) 1625 (3) 1030 (4) 1330

(2C)

1 E
collegedunia

—



67.

68.

69.

70.

71.
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A polvgon has 44 diagonals, the number of its side is :
(1) 10 (2) 11 (3) 12 {4) 13
T agg @ Ravi O G0 44 2 T ITTD el @) G §
(1) 10 (2) 11 (3) 12 (4) 13
Among 14 player 5 are bowlers, in how many ways a team of 11 plaver may be
formed with at least 4 bowlers ?
(1) 180 (2) 265 (3) 264 (4) 263
gfe 14 Raenfea # 4 5 arer 8 & @5 T 39 4 aeRi @ |1y 11 Raentsal 3 a
fer g q 4418l ol Gad) € 7
(1) 180 (2) 265 (3) 264 (4) 263
If the coefficients of (r - 5)"" and (2r - 1)" terms in the expansion of (1 + v/ are
equal, then value of 'r' is :
(1) 12 (2) 13 3) 14 (4) 15
afe (1 + 1) @ waR ¥ (r - 5)af T (2r - 1)d] ue} & UM &R1ER 2, a1 '+ bl Fi
_t'?
(1 12 2) 13 (3) 14 (4) 15
S, denote the sum of the first # terms of an A. P. If S,, =3S,, then :;1"— 1s equal
n
to:
(1) 6 (2) 5 3) 4 (4) 3
FARR S (A, P) & ueE g uel & A S, gw Fefm g o S, =38, 2 &
"L’_}L’- @ A B
I
(1) 6 i2) 3 (3) 4 4 3
2 2
The sum of the series — + B 2 00 + e tO P bOTMS i
3 9 27 8

(1) B-e (34D @) #+=("-1) (@) #-=(1-3") @ =@"-1)

2 2 2 2

z+§+~2£'+—8—9+ ...... @ n Il B AT @
3 9 27 8l

H

1 . E =
(1) !1—;13 1) (2) r!"ﬁ{:l'—”

—_— -

(21)

By w=2(1=3"

P RO
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;i

73.

74.

795.

76.

The variance of following datas :
63, 68, 58, 44, 48, 45, 60, 62, 60, ) is :
(1) 64.1 (2) 8.13 (3) 33.1 (4) 36
frrifhe aifeSt @1 TR (6°) €
63, 68, 38, 44, 18, 45, 60, 62, 60, 3()
(1) 64.1 (2) 8.13 (3) 33.1 (4} 56

: SR e ; %
The area of equilateral triangle inscribed in the circle A7 = g7 —ba -8y ~25-0

1S

(1) 225 (2) ﬁ;"ﬁ (3) 307 - 100 (4) 30z

ga x? +y° -6y -8y—25=0 % sia Rea (& aaarg e o sama ¢
(1) 225 (2) ﬁ:ﬁ (3) 507~ 100 (4) 30z

; 9 1 .
The sum of the focal distances of any point on the ellipse 9y + 16y~ = 144, is

(1) 32 (2) 16 (3) 18 (4) &
Aefaa 9x2 +16y2 =144 & falt fasg & “lTel &1 gRAT &1 1% 7
(1) 32 (2) ie (3) IS (4) B

. - SR T
The cccentricity of the hvperbola 37 -4y~ =1, is:

/3 5 2 2

i Y e 3) — 1) —
0y = 2 3 (3) g (4) NE
sifdgvas ‘43;2 =1 @& Iahwwal (¢) B UE B

Y I 7. 2.

il oy 3) — 1) —
(1) - (2) 5 (3) 7 (4) 7

The equation of the circle which passes through the origin and cut off intercepts

3 and 4 from the positive parts of x-axis and y-axis respectively, is

1 3 }
() x"+y" -3x-4y=0 (2) X"y -3y ~dy=

B By

(3) x° +],f2 +d+3x =0 (4) x"+#y°+3x+ ty =

(22)

i E
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78.

79.

80.
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gt A TN ard q v 3Ry el B U ArT |9 FEE 3 T8 4 B TS
FIT AR TH BT AHEI &

* 25

(1) af *.‘fl -3xy-4y=0 (2) -1'2+3f‘!—3‘1*—4_u= 2
2 Lyt 2. 2 25

(3) x“+y” +4y+3x=0 (4) x“+y +3I+4N:T

If O is origin, OP = 3 with direction ratios (d.c.s.) proportional to -1, 2, -2, then
coordinate of Pis:

1
9

af O yeifewg 2, OP = 3 a1 S8 e @ead (d.cs) -1, 2, -2 D [HEURT €, o
fog P fadwis &

1) (1,-2,2) @ 1,2-2) @) [- 2 2) g (3,6-6)
¥ -y ¥ 9 g!'

1.2 2

3 3 (1,22 By o= 4) (-3,6,-6)
ay (1,-2,2) @ (-1,2,-2) ()[_999] @) (
If the points (<1, 3, 2), (4, 2, 2) and (5, 5, #.) are collinear, then value of 2. is:
(1) O (2) 1 3) 5 (4) 10
At R (-1,3,2), (4,2, 2) TA1(5,5, %) WA &, A L' bl A 8
(1) O {2} 1 (3) 5 (4) 10
The length of perpendicular drown from the point 2i —}+5£‘ to the line

F = (117 —2] —8k) + (107 - 4] - 11k) is (where % is any real number) :

(1) 14 (2) V14 (3) 3 (4) 4

fasg 2i-j+5k & X F=(11i =2 -8K)+ A(10i -4j -11k) R €l U == P
g 8

(1) 14 (2) 14 (3) 3 (4) 4

Let ¥ is sample mean of a random sample drawn from distribution

f1(1'1=(1+0}x”,0-<:.1'«;1,0}(]. What should be minimum value of ¥ to get

moment estimator of 0 ?
7

A

a .
i1y — (2) (3) — (4)
3

12| —
’-“JI'_.

D

(23) P.T.O.
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o d B ¥ aea f)=(1+0n" 0<x<1,0>0 9 Frrel o9 argfes® Jidse &
sfae aren &) 0 g Al NFHTT U B ¥ BT SRR A P ET
@ 3 (4) -
76 ) 3

N |

2 2
(1) 'i' (2)

81. There are five applicants for a job. The applicants are ranked from best to the
worst bul it 1s unknown to the employer. He randomly selects two applicants,
Which of the following events has maximum probability of selection ?

(1) The worst and one of the two best.

(2) At least one of the two best.

{3) Best and one of the two worst.

{4} None of the two best.

Bl A B fag dih apaedl € aprfiat @1 Wt srest @ wE w@id ca @icag

franr arar &, ofbs Pl & gg oon 981 &1 98 digfes s § & apniEg o
g 7 | Frafafaa vemisl § 9 o g & waifas wiffadr vaor 2 2
(1) 49 w@Rrd 3R 37 ey sl 4 9 US|

(2) 41 Fa9 =51 4 9 o9 A &Y TP |

(3) Vai AP AR G FEA WXE d ¥ Ueh |
(4) 37 EEY BT 4 F & A8 |

82. There are three bags, each containing a white and & black balls. One ball is
drawn from first bag and placed in the second bag. Then a ball is drawn from
the second and placed in the third bag. A ball is then drawn from the third bag.
Which of the following is probability of selection of a white ball from third bag ?

1 s
i} =5 2) — ) — e
) a+b (2) a+0+1 ) a+b ) a+ -1

w‘rrfsnm‘ﬁrambamﬁﬁ%wﬁnﬁﬁwﬁiﬁﬁlmﬁ]?ﬁﬂwfrz:ﬁ‘-.m1
Gl & SR gEY del H R w81 AR g 39 A A us T Piard o 2 ain
(R oot § 3 Ol ) O R 99 § @ 1o e B w1 2 B g @ e
AR A | P gog e e @ gifiear & ?

1 - @ ——— @ 2 () L

a
a+b a+bi] i+ b a+b+]

(24)
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83. Rcad the following slatements carefully in context of the function given below :
F(x) =0, if x<()
= 3¢3, if 0<x<1
=d4c-7¢?, if 1<x<2
= Yc-7c- -1, if 2<x<3
=1, if 3<x,
Assertion (A) : F(x) can be cumulative distribution function of a continuous
positive random variable for properly chosen value of 'c'.

Reason (R) : For proper choice of 'c’, F(x) is monotone and bounded between 0
and 1.

Select your answer from the following codes :
(1) Both A and Ris true and R is correct explanation of A.
(2) Both A and R is true but R is not correct explanation of A.
(3) A s true but R is false.
(4) A is false but R is true.
Ara 2 19 e
F(x)=0, gig x<()

= 3¢, 71 0<x<1

=4c-7¢2, T3 1sx<2

= 9¢-7¢2 -1, Tf 2<x<3

=] afe 3<x.
o e ¥ Frefafaa @ @1 wrgds gy
HUF (A) : ¢ B Wow 9af3d 9 & R, F(x) 58 waa eomere agfos @ o
wadl de+t BT B 9Hdl 8 |
SR (R):'c' & Gqfad 9ud & ford, F(x) U9 3R 03 1% 7eg @ifg 2
fraforRaa @et 9 9 9= Sax g
(1) A3k R W21 ¢ 21 A 31 ¥ @ R 2
(2) AR RS 98 & uv=] A & & aawn R A8 2
(3) A¥d 2Py R7dAd &
(4) A weld 2 fd=g R 98 2

(25) PT.0.

collegedunias

—



18U/94/29(Set-1)

84. A non-negalive integer valued random variable takes value k with probability
proy ortional to aM0<a<1) and F(x) denotes its camulative distribution function,
then F(1) is equal to
(1) a (2) 1-a (3) a(l-a) (4) 1-a°
E T qoiies HiEl diddl agfed R aMU<a<l) & ARG i@ & o
o1 k ol & 3R F(x) 357 9} dea worm @ wafdia s3an & a1 F(1)

(1) a (2) 1-a (3) a(l-a) @) 1-2°
@ AR |

85. The probability mass function of a random variable X 1s given below :
o =xf15; -3 e [ VB
={); otherwise.

Then the conditional probability that X lies between 1/2 and 5/2 given that A 1s
greater than one 1s

(1) 1/7 (2y 3/7 (3) 2/15 (4) 1/5
argfed o= X & Wiliemer 2= Sorm e fqar g
f(x) =x/15; %= 1,23,4:5
= AT |
@ X @ 1/2 3R 5/2 @ 77 T2 B ufoafig uifdmar wafs @Baron 2 B X o
W afd@ €
(1) 1/7 (2) 3/7 3) 2715 (4) 1/5
g |

86. The geometric mean of the distribution f(x) = 6(x-2) (1-x), for 12x<2 s

(1) (1/16) log(19/6) (2) (1/16) ¢it/o

(3) (1/6) log(17/6) (4) (1/6) it o

f(x) = 6(x-2) (1-x), 1sx<2 @ {37, g7 F1 IR HEA 2

(1) (1/16) log(19/6) (2) (1/16) ¢™'6)

(3) (1/6)log(17/6) (4) (1/6) ci17761
(26)
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87. A random sample of size n is drawn from a population of size N, having mean
inoand standard deviation o, using simple random sampling without
replacement. The covariance between any two sample observations will be :

(1) —o-/N (2) —o=/(N-1) (3) -o*/n (4) -o*/(n-1)
Ay 3R AMS fAadd o YO 9 N TR @ b afte § n e &1 U
ugfse ufted wa wgfees ufegs fan yftrene wg@a & Foen o €
bl & ufdeyl Uervll & wea WRyHAL

(1) -c*/N (2) -o2/(N-1) (3) —o*/n (4) -o*/(n-1)
g |

88. The power ol a lest s the probability of :
(1) Rejecting Hy when H is true. (2) Rejecting Hy when Hy is true.
(3) Rejecting Hy when H; is true. (4) Rejecting Hy when Ha is true.
freh odlen o wifdw

(1) Hyo ®1 3RdI@R @xe o| H 8 8 |
(2) Hy & sRAER HL W H;; TEl & )
(3) Hy @ RASR &A1 wid Hy W
(4) H, @7 sRAHR A1 Fa Ho T2 & |
& wifdear & |

89. Which of the following statements is ALWAYS true ?
Sy : Sum of independent Binomial variable is Binomial variable.
S, : Sum of independent Poisson variable is Poisson variable.
Sy : Sum of independent Normal variable is Normal variable.
Choose the correct answer from the following :
(1) Syand S are ture but Sy 1s false. (2) S:and S; are ture but 5 is false.
(3) S;and Ss are ture but Sz is false. (4) Si, Sz and Ss all are true.
Aymfafiag s § 9 B A< Tl E 2
S, : T feug Wi &1 A fgue @ #ai §
S, : TqeH TR B¥) @1 AN Wi W e € |

-2

S, + F@erA YT WRY BT AT SRR W EN E
fyeforfira 3 § W) SR FUMd SR - | -‘
(1) S MRS T & Ty S 77 ¥ (2) S 3MRS; e & U] S e & |
(3) SRS WA & WG S R (@) S, SN ST HEE
(27) P.T.O.
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90. lhe equation of pair of regression lines for a given data is reported as
4X + 35Y + 33 =0 and 20X -9Y - 1117 = (.
Statement(S) : We cannot calculate the corrclation coelhcient belween X and Y.
Reason(R) : It is not specific which one is regression of Xon Y and which one 1s
Y on X.
Choose the correct answer from L following
(1) Sis true and R is its correct explanation.
(2) Sis true but R is not its correct explanation.
(3) Sisfalse but R is true.
(4) Both S and R are false.
fhet v v siige & g WA W & @iltde 4X + 5Y + 33 = 0 3R
20X -9Y - 107 = 0 &1 Hifes st 21
FYUF (S): X 3R Y & 7y ARG il @) TIAT #% G0 B A F
ST (R) : ¥ 78 fAfead [ var 2 BB Wl Lb X BY W S8 51 U Y &1 X
T IS B |
fefaifga & 9 wdl wav agfsa #7 g ¢
(1) F*Fﬁ g I Rm ?T@! [FAEEH %i (2) Sﬁtﬂ B tﬁ:ﬂ [{gwﬁ QTF_I'-‘; ST :,i? gi
(3) ST € Wy RGE &) (1) SRR -1 VA )

91. If X is a single observation from a Poisson distribation with parameter 7,
consider the following in the context of point estimation of exp(=32.) .
Assertion(A) : Unbiased estimators may be absurd.

Reason (R) : (~3) is the only unbiased e<timator of exp(=32).
Choose the correct answer from the following ;

{1) Both A and R is correct and R s eorrect explanation of A,

{2} Both A and R is correct and R is not correct explanation of A.
{3} A is true but R is false.

(4) A s false but Ris true.

T grad ;. A AR qeq § A Twa Gem 7 ot el e exp(-37) @ fig
HGAB B Fay | T

YA (A) : w-ifiae sades RS & Hao @

BROT (R) : exp(=32) BT (=3)N TOH SR 0 60E 1 |

FreTieiRed ael & @ @8 9T @l o i

(1) AR R @f & 3w S &) a8 ey R &

(2) AR RS @B & u&g A @ Gl @ner R g |

(3) AWE 8 U] R e 8

(4) AT & U] R 48 #

(28)
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92. Let X, X5, ..., Xu be a random sample from normal distribution with mean t

93.

94.

n 1 -
and variance 0. 1 T: = 3 X; and T: = Z}{f , then
. e

- 0
(1) Ty and T: are jointly sufficient for 0,
(2) Only T; is sufficient for 0.
(3) Only T:is sufficient for (.

(4) Netther Ty nor T- is sufficient for 0.

A Xy, Xa, o0, Xo T 0 2R SRR O @9 SUER 959§ @18 aigioe ufdey

2 AR Ti= T'X, dkTa= X 201
= =]

(1) T) 9% T @R w3y 9 0@ e guha 2|
(2) @ad T, 0 & fou guim 7

(3) &ad Ta, 0 & forw yorag & |

(4) ST A T, 0 @ A0 ygicg 2

In a 2™-factorial experiment, the effect total [A] is given as :
(1) (1)+(a)-(b)+(ab)+(c)+(ac)~(bc)+(abc)

(2) ~(1)~(a)-(b)-(ab)+(c)+{ac)+(bc)+(abc)

(3) —(1)1+{a)-(b)+ (ab)=(c)+(ac)-(bc)+(abc)

() -(1) (a) (b}+ab)- {c}+ (ac)~(be)+{abc)

2°-JUTET wAT ¥, wqre-anT [A]

(1) (1)+(a)~(b)+(ab)+(c)+(ac)-(bc)+(abc)

(2) ~(1)~(a)-(b)~(ab)+(c)+(ac)+(bc)+(abc)

(3) —(1)+(a)=(b)+(ab)-(c)+(ac)-(bc)+(abc)

(4) -(1)—(a)-(b)+(ab)+(c)+(ac)-(bc)+(abc)

® ave ey S 2 |
break' statement is used for :
(1) to quit the program (2) to continue the program
(3) to go to the next iteration (4} to quit the current iteration
da’ Yooue &1y Feafealaa 7 3 eafern b omen 2 2
(1) yrm & AEA B g (2) W™ &I 0 qErl @ (oG
(3) amre sfeves 7 o @ g (4) @l sfevwd &1 Sea © B
(29) P.T.0.
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95,

96.

97.

98.

99.

100.

The decimal number 102 written in binary is:

(1) 0110011 (2) 11UU11

(3) 110110 (4) 1100110

sf¥ma aib 102 B arzad ofw yonel # a9 refa g a8 7

(1) 0110011 (2) 110011

(3) 110110 (H) 1100110

Calculate the addition using Binary Arithmetic Operation for: (1011)> + (10010)> = ?

(1) (10110): (2} (L0112

(3) (LTT01)» (4) (QOTCTS

a1gd da guIrell @l YA @Rd ge A @1 an @ Erm ?

(1011)2 + (100102 = ?
(1) (10110)s (2) (10011):

A thp-flop has two output which are
{1} Always0

(3) Always complementary

U% eg-gam & a1 angeye @I gd 8
(1) 733 1

(3) 13T PIAIE

(3) (LLIO]): (4) (VO1U10}.

(2) Always |
(4) Always equal

(2) w4a 1
(4) Hag T

An 8-bit register contains the binary value 10011100, What is the register value

after arithmetic shift right ?
(1) 11001110 (2) 01001110

(3) 110011} (4) 10101110

v §-fde s A argad "W 10011100 8 59 ey § ity Brge wge
AT T O3 IR H 2w O enh ?

(1) 11001110 (2) 01001110

The decaded instruction is stored in ...

(1) Instruction Register

(3) Memory data Register

[P SIBISS-SNETIT Bl W 21l & 7
(1) s=gaIr Aore

(3) A9 e oz

Simpson's formula is applicable to :
(1) odd number of intervals
(3) odd or even number of intervals

Rigws & Fefoalaa § & ®9 swyen @

(1) JicRTe G fouy 89 v
(3) 3IfavTer He=AT WY a7 fawys gid o

(30)

(3) 11100111 (4) 10101110

------------

Program Counter

CPU Registor

U $HlSey
CPU rqver

even number of intervals

(2)
(4)
?

(2)
(4)

when interval is more

STORTA 8 9 89 o9
IR G dfds 8 W
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esamwﬁwﬁrwzﬁrmwﬁﬁmﬁlmmﬁé:
(1) e HEUd grafirat &1 3T

(2) eM-HE B AR IARE A

(3) Rwrd & WX W AP

(4) BeT-HeE W AR

8. Objectives of education are decided by :
(1) Philosophy of Education
(2) Sociology of Education
(3) Psychology of Education
(4) Technology of Education
e a1 Seea PR &t €

(1) fer @1 &9 (2) fim BT FHISTAS
(3) ey @1 HATAGH (4) e & aBTDI

9. Interpretation of meaning depends upon :
(1) Pastexperience (2) Psychological state
(3) Present circumstances (4) Economic state
ae&zrﬁanmnmzmﬁﬂ?m‘ch%: :
(1) gd 3999 W 2) HAAENG HAE W
(3) gdm aRRefoar W (4) anfie Rafy @

10. The most important challenge before a teacher is :
(1) To maintain discipline in the classroom
(2) To make students do their home work
(3) To make teaching-learning process enjoyable
(4) To prepare question paper
Qrﬁﬁ?aiﬁd%ﬂtﬁ?ﬂm@m@i_ﬁ?ﬁaﬁ%:
(1) err—e 3 ST g <
(2) faenfidi @ SF@T & B AT
(3) fRreror afte wighar @1 =TS Gl
(4) wEATH JAR P

(6)
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